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Algebra I Homework #15

Write 761.9x107 in scientific notation.

144x°ya® —96x"y’a’ —243x*y’a
216x°y*a’

Simplify:

Find the equation of the line that goes through the points (-4,-9) and (4,9)

9+2x—5x
x+3

Simplify:
Simplify: (6x° —4x* +7x)(3x” +5x—1)
Find gof(x) if f(x)=4x-3 and g(x)=-2x"+5x—8and then evaluate g0/ (-7)

Solve —2<—-4x+3 <2 and graph the final answer on a number line.

Find the domain and range of the following relation and determine if the relation is a
function: {(-2,3),(4,-6),(3,-2),(—4,-1),(5,-6),(0,0),(-5,2)}

Find fog(x) if f(x)=—x"—x+4 and g(x)=x*—2x+7and then evaluate f 0g(3)
Solve —1>—-2x—32>-7 and graph the final answer on a number line.

Find (f —g)(x) if f(x)=4x’-3x"+5x—8 and g(x)=6x" —4x*> —9x+5and then
evaluate (f —g)(—5a)

Solve =32 6x+4 > -9 and graph the final answer on a number line.
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13) Find the domain and range of the following relation and determine if the relation is a

function: {(89 _9)9 (7: 3)9 (_5: _2)9 (69 _9)9 (_39 _7)7 (99 0)9 (_59 8)9 (09 5)9 (_69 6)}

14) Find %(x) if f(x)=6x"+11x—35 and g(x)=12x> —47x+45and then evaluate

%(261—3)

15) Solve —13<—-5x+2 <12 and graph the final answer on a number line.

16) If f(x) =4x* —2x+1 and g(x)=-3x+5 find: (f+2)(x), (f—g2)x), (f-2)(x),
fog(x), gof(x) and then evaluate f 0g(-2)+(f —2)(4)

17) Solve —4 <-3x+2 <6 and graph the final answer on a number line.

18) Find the domain and range of the following relation and determine if the relation is a
function: {(O’ 5)’ (_1 1’ 7)’ (_49 4)3 (O’ 0)9 (1 29 -1 3)9 (69 9)9 (_ 19 6)9 (_59 _5)9 (89 _5)}

19) Solve 52=4x—72=-6 and graph the final answer on a number line.

20) Find the domain and range of the following relation and determine if the relation is a
function: 1(7,=9,(=7,8),(=6,-1),(0,12),(6,-9),(5,8),(-3,-10),(=1,-9),(-5,2),(-4,8)}
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